Registre Bl lRegistre A RI
UAL CO
OPERATIVE PARTIE
© CONTROLE
\ 4
0 0001 1111 (LDA 15) MEMOIRE
1 1000 1101 (LDB 13)
5 1001 0000 (ADD)
5 1000 1100 (LDB 12) * Etape 1l:RI = Memoire[CO]
6 1001 0000 (ADD) * Etape 2 : exécuter l'instruction dans RI
7 0100 1110 (STA 14) « Etape3:CO = CO + 1 (saufsautou HLT)
8 1000 1110 (LDB 14) « Recommencer en 1
9 1110 1011 (Jz0 11)
10 0110 0000 (JMP 00) Instructions :
11| 0000 0000 (HLT) « LDA X : A = Mem[X]
1o 1111 1111 (-1) « STA X : Mem[X] = A
13 0000 0111 (7) e IDB X : B = Mem[X]
14 0000 0100 (4) . ?ﬁg . ZCA;O=_AX+ B
15| 0000 0000 (0) e JZ0 X : si A+B==0 alors CO = X
sinon CO = CO + 1
Machine R2E2 - Iremi la Réunion * HLT : Arréte la machine
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